
Quiz #1: Electric Charge

Prebl,em f (l point)
A positively chaqged insulating rcd is brrought close to an object that is suqpended by a sting. If the
obi€ct is atrastod toward the ro4 we can conclude:

ghre,oLr"f"*,Dt^0AJAt,'-tph. otlta)6e object is positively chaqged
b) the object is negatively ch4ed
c) the object is an insulator
O tre objwt is aconductor

@noneofthe above

Problcm 2 (l points)
A positively charged insulafing lod is brought close to m object that is zuspenaea by a sting. If the
object is repelld away from the ro4 we can conclude:

@,n" object is positively charged
5; Oe object is neguively charged
c) the object is an insulator
O the object is a conductor
e) none ofthe above

Problem 3 (3 points)
The initial charges on two identical metal spheres ue q^= *3.00 pC and {B : -1.00 p C. How many
elehonsmustbefiansf€rred ftom spherc B to sphereA soth*treybothhavefte sgne charge?
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hrhh | (spoids)
Utd is fu nrytin* md direction of tre net electic force on the 5.0 nC charge shoum in the figrre
bdo*?
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